FCA,

GLOBAL POWERTRAIN

’ 4

GRACO

Component List for
Graco Trabon Lubrication Systems Products

Document No.: CL- F- Trabon

Version 9.0
Release Date: July 6, 2016

File Name: 352481C_FCA_Global _Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16
Page No.: 1 of 53



FCA

GLOBAL POWERTRAIN

DOCUMENT MANAGEMENT INFORMATION

The controlled version of this document is stored on the Graco website.
www.graco.com/fcalubricationspec

Web address reference is available on the following Fiat Powertrain SpA and Chrysler Powertrain
LLC web sites:

http://supplierinfo.fiatpowertrain.com/index.php
https://gsp.extra.chrysler.com/mfg/amedd/powertrain.htm

Any printed copy is an uncontrolled copy. The user shall verify with the web site that he/she is in fact
using the appropriate version of the specification for the specific project he/she is working on.

Any questions or comments with respect to this specification should be directed to the project
engineer for the specific project in question.

Revision History

Revision Version | Document Name Revision Description Paragraph Revised
Date No. Affected By
10-1-2010 |1 FPT-CPT 2010 Project Book Graco Trabon | Update with 2010 review All L. Brown
7-1-2012 2 FPT-CPT 2012 Project Book Graco Trabon | Update with 2012 review All L. Brown
7-1-2013 3 FPT-CPT 2013 Project Book Graco Trabon | Removed single point 3 L. Brown

lubricators, due to conflict

with specification

Updated contact info 2
7-1-2014 4 FPT-CPT 2014 Project Book Graco Trabon | Updated contact info 2 L. Brown

Added MPP Modu-Flo
pumps, Separated G3 Oil
from Grease pumps, added |3
psi switch, cycle switch and
gauge

1-1-2015 5 FPT-CPT 2014 Project Book Graco Trabon [ Deleted obsolete piston 3 L. Brown
distributors.

Added G1 pumps & GL
injectors.

Separated and clarified
piston distributors models for
easier selection.

Added clarifying comments
to other components to avoid
misapplication.

File Name: 352481C_FCA_Global _Graco_Trabon_Spec_Book.doc
Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16
Page No.: 2 of 53



http://www.graco.com/fcalubricationspec
http://supplierinfo.fiatpowertrain.com/index.php
https://gsp.extra.chrysler.com/mfg/amedd/powertrain.htm

FCA

GLOBAL POWERTRAIN

6-9-2015

FPT-CPT 2015 Project Book Graco Trabon

Deleted red strike items from
January revision

Changed blue comments to
black from January revision

L. Brown

12-1-2015

FPT-CPT 2015 Project Book Graco Trabon

Updated manifold part
numbers and contact name

2&3

J. Koenig

3-29-2016

FPT-CPT 2016 Project Book Graco Trabon

Added more details to align
with competitors, updated
link to controlled copy,
updated contact information,
added BSPP outlet fittings
for G-series pumps. Added
“QUICK-FILL COUPLING
OPTIONS” section to last
page. Combined Global and
NAFTA books into one
document.

Updated Graco Website and
Contact Information.

All

J. Koenig

4-8-2016

9.0

352481C_FCA_Global_Graco_Trabon_Spec

_Book

Rearranged sections to align
with FCA guidelines. Added
new ToC, more links to other
literature, and removed
some non-BSPP specs.
Removed MD and MJ valves
because they are not offered
with BSPP ports.

All

J. Koenig

The number to the left of the decimal in the version number indicates the major version number.
The number to the right of the decimal in the version number indicates the minor version number.
The major version number will change for the following reasons:
o Information added to document.

¢ Information removed from document.

¢ Rearrangement of sections in the document.

¢ Revisions to the scope or purpose of the document.

The minor version number will change for the following reason:
¢ Minor changes that do not affect the overall scope of the document.

File Name: 352481C_FCA_Global _Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 3 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

1. CONTACT & SUPPORT

1.1. GRACO INDUSTRIAL LUBRICATION SYSTEMS PERSONS TO CONTACT
1.1.1. NAFTA PROJECT BOOK SUPPLIER CONTACTS

Kyle Williams

Industrial Lubrication Regional Manager
Graco Lubrication Equipment Division
Cleveland, OH

Tel: 216-401-2266

kwilliams@agraco.com

1.1.2. GLOBAL PROJECT BOOK SUPPLIER CONTACTS

1.1.2.1. EUROPE, MIDDLE EAST, AFRICA (EMEA)

Robert Heuberger

Sales Supervisor ILE

Lubrication Equipment Division Europe
Stuttgart, Germany

Tel: +49 172 5276 789
robert.heuberger@graco.com

1.1.2.2. ADDITIONAL CONTACT FOR AREAS OUTSIDE NAFTA & EMEA

Lee Brown

Industrial Lubrication Business Development Manager
Graco Lubrication Equipment Division

Detroit, MI

Tel: 248-789-6190

Ibrown@graco.com

1.2. FCA (EMEA, LATAM, APAC) AND FCA (NAFTA) CONTACTS

FCA EMEA, LATAM and APAC FCA NAFTA

Mauro Falletti Christian Heider
E-Mail: mauro falletti@fcagroup.com E-Mail: christian.heider@fcagroup.com
Phone: +39 (011) 0033-099 Phone: +1(248) 249-3021

File Name: 352481C_FCA_Global _Graco_Trabon_Spec_Book.doc
Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16
Page No.: 4 of 53


mailto:kwilliams@graco.com
mailto:robert.heuberger@graco.com
mailto:lbrown@graco.com

FCA

GLOBAL POWERTRAIN

TABLE OF CONTENTS

1. CONTACT & SUPPORT ...t 4
1.1. GRACO INDUSTRIAL LUBRICATION SYSTEMS PERSONS TO CONTACT ......ccvvviiiiiiiiiiiiiiiiiiiiiiieee 4
1.1.1. NAFTA PROJECT BOOK SUPPLIER CONTACTS ...ttt e e 4
1.1.2. GLOBAL PROJECT BOOK SUPPLIER CONTACTS .....outiiiiiiiiiiriiiiiiiiiiiieeeiiirreniersenssnessseses 4
1.2. FCA (EMEA, LATAM, APAC) AND FCA (NAFTA) CONTACTS ...coiiiiiiiiieeeeeeeee ettt 4
2. INTRODUGCTION. ...ttt ettt ettt e et e e e ee e e s e e e et e eeee e s s e e e e et e eee e e e a s e e eaeteeens s na s e eeeeeeennsnaasaeeeeeennnes 7
2.1, SCOPE OF DOCUMENT ...ttt ettt e e e et eee e r e e e et e e e et b s e e e aeteeans s aa s e eeeetessrssaasaaeaeeeennnes 7
3. LIST OF COMPONENTS ...ttt ettt e ettt e e e e et e e e et e s e e e e et eeane b s e e eeeeesnnb e aaaeeeeeeennnes 8
3.1. SINGLE LINE SERIES PROGRESSIVE SYSTEMVALVES. ... 8
3.2. SINGLE LINE SERIES PROGRESSIVE SYSTEM PUMPS & ACCESSORIES..........cooooviiiiiiiiiieeeeee 8
3.3. SINGLE LINE PARALLEL (MANIFOLD MOUNTED PISTON DISTRIBUTORS) .......cuuuiiiiiiiiiiiiiiiiiiiinnnnns 11
3.4. SINGLE LINE PARALLEL (CAST BODY PISTON DISTRIBUTORS).......uuttiiiiiiiiiiiiiiiiiee e 12
3.5. SINGLE LINE PARALLEL PUMP PACKAGES AND ACCESSORIES........ccoii i 14
3.6. AIR-OIL LUBRICATION SYSTEMS ... et e e e e 17
3.7. FILTRATION FOR LUBRICATION SYSTEMS ...ttt 17
3.8. QUICK-FILL COUPLING OPTIONS/SUGGESTIONS ...ttt 18
4. TECHNICAL INFORMATION AND DRAWINGS...... oottt e e e e e ennnes 19
O Y/ ] PP PP PR PPPPPPPPN 19
4.1.1. EXAMPLE ORDERING CODES..... . ittt e e e e e e et eeeaeeenene 19
4.2. MSP DIMENSIONAL DRAWINGS ...ttt e e et e e e e e e ennn e s e e e e e e ennnes 20
4.2.1. THREE SECTION MSP ...ttt e e ettt ettt e e e e e et eeaebba e e e e eeaeeenrnes 20
4.2.2. FOUR SECTION MSP... .ottt ettt e e e et e e ae e r e e e e e e e ennnrn e s s e eeeeennnnes 21
4.2.3. FIVE SECTION MSP ...ttt e e ettt ettt e e e e et e eetbbb e e e e eaaeeenrnes 22
4.2.4.  SIX SECTION MSP ...t e e et e et e e e et e e e ae e s e e e e et e e nnnrn e aa s e e eeeeennnes 23
4.2.5. SEVEN SECTION MSP ... ittt ettt e e ettt ettt e e e e e e et ee ittt e e e e eaaeeenenes 24
4.2.6. EIGHT SECTION MSP ... ittt e e e et e r e e e e e e e e nnnn e a s s e e eeeeennnes 25

File Name: 352481C_FCA_Global _Graco_Trabon_Spec_Book.doc
Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16
Page No.: 5 of 53



FCA

GLOBAL POWERTRAIN

4.2.7. NINE SECTION MSP ... ittt e e e et e e e en e s e e e et e eeae e r e e e eeeeennnrnaaaaeeeeeennrnes 26
B.3. ZIMISP ..ttt E 1 E R E R es 27
4.3.1. ZERO LEAK MODULAR FILTER SECTION......ccitiiitiiiiiiie et eenese e e e e eennnan e e e e eeennnes 27
4.3.2. ZERO LEAK MODULAR VALVE SECTION ....cooiiiiiiiiii 28
4.4, GREASE ZONE VALVE 557227 ...ttt e ettt e e e et ee e r s s e e e e et eennn i a s e eeeeeennnes 29
4.5. PERFORMANCE INDICATORS 563256 & 563254 .........uuuuiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiieibssesessessseeeeennennnenes 30
4.6. PROXIMITY SWITCH 24KA15 ...ttt e e e et e e r s e e e e e e eenrn s e e e eaeeennnes 31
4.7. MECHANICAL CYCLE SWITCH 563272 .....covtiiiiii ettt e e e e e e e ennnes 32
4.8. G3AND G1 SERIES GREASE PUMPS ...ttt ettt e e e e e nr e e e e e e e ennnes 33
4.8.1. G3/G1 PUMP WITH 2 LITER RESERVOIR......coiiitiiiiiiie ettt 33
4.8.2. G3/G1 PUMP WITH 4 LITER RESERVOIR.......coii i 34
4.8.3. G3/G1 PUMP WITH 8 LITER RESERVOIR......coiiiiiiiiiiiiee ettt 35
4.8.4. G3/G1 PUMP WITH 12 LITER RESERVOIR......cco i 36
4.8.5. G3/G1 PUMP WITH 16 LITER RESERVOIR.........iiiiiiiiiiei ettt 37
4.9. G3AND G1 SERIES OIL PUMPS ...ttt e et e e e e e e et eenrr s s e e eeeeenrnes 38
4.10. SINGLE LINE PARALLEL MANIFOLDS FOR PISTON DISTRIBUTORS ........oiiiiiiieiiieeiie e 39
4.11. SINGLE LINE PARALLEL PISTON DISTRIBUTORS .......uiiii ittt e e e eenees 40
4.12. SINGLE LINE PARALLEL CAST BODY PISTON DISTRIBUTORS........ccoiiiii e 41
4.13. GL-32 AND GLA3 INJECTORS ... tttuietti ettt e ettt e et e et e e e e e et e e et e e et e e et e e aa e e et aesanee et aaesnnaesnnaaetnaeesnnaees 44
4.14.  INJECTO-FLO PUMPS . ... ittt e et e e e e et e eeeen et e e e e et e nnnre e s e e e aeeeennnes 45
4.14.1. Three LITER RESERVOIR ... 45
4.14.2.  SIXLITER RESERVOIR ...ttt e e e e e e e e nn e n e e e e e eennne 46
I J L L KPP TR P PSUPPPPPRPPIN 47
4.15.  G3IGLVENT VALVE 24MAB2.......o ettt e e e e e e e e e e e e e e 48
4.16. SPINDL-GARD SPG-E24 ...ttt e ettt et e e e e et e e e et eaeaeenrae 49
4.17. AO SERIES AIR/OIL MANIFOLDS FOR MSP VALVES .......oouiiiiiiiiiiiiiiiiiiiiiiiiieiinneeeeeenennnnnnnnnnnnees 50
4.18. HIGH PRESSURE FILTER 563515..... .ottt e ettt e e e et eeaetba s s e e e aeeennnes 51
4.19. HIGH PRESSURE FILTER 564004..... ..ottt e e e e e e e e e ennnnnna s e e e e e eennnes 52
4.20. GREASE STRAINER 564406 ...... ..ottt e et e ee et b e e e e e et eerbbba e eeaaeeennnes 53

File Name: 352481C_FCA_Global _Graco_Trabon_Spec_Book.doc
Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16
Page No.: 6 of 53



FCA

GLOBAL POWERTRAIN

2. INTRODUCTION

2.1. SCOPE OF DOCUMENT

This document contains product information to be used for the selection of components for FCA Global
programs. This document provides a basic guide to selecting the correct type of lubrication system for
the correct application. It also provides the necessary contact information to assist in application
engineering, program management review, and stocking locations for ease of purchasing.

All information contained in this document is superseded by the requirements of the FCA Global
Specification.

A current, and accurate, copy of the specification can be gleaned from the following web
addresses:

http://supplierinfo.fiatpowertrain.com/index.php
https://gsp.extra.chrysler.com/mfg/amedd/powertrain.htm

Terminating Series Progressive - lubrication systems for oil and grease - Series Progressive
terminating (total loss) system utilizing a pump feeding a Series Progressive divider valve. This system
is typically used on a single purpose machine.

Terminating Parallel (Piston Distributor/Injector) - This is a Single Line Parallel Terminating (total
loss) system utilizing a pump feeding a series of Piston Distributor delivery valves. This system is
typically used on a single purpose machine. For oil and fluid grease.

Circulating Header Line “0” Leak Series Progressive - This Series Progressive system, in
conjunction with the modular “0” leak valve, is used for transfer lines and flexible machining centers.
This style system simplifies the more complex circuits while providing individual zone control. In
addition, continuous circulating oil through filtration provides cleaner oil.

Accessories and Feedback devices - For use with all system types for monitoring pressures, cycles
and levels

Spindle Lubrication System (Multiple and Box Spindle) — Spindl-Gard ® - Dry sump style system is
used in place of the circulating wet sump system for multiple head spindles. Air/Qil system is used for
direct lubricating and cooling rolling element bearings on precision box spindles. These systems require
lubrication engineering design consideration. Mechanical layout prints for spindle are required for
review with expert. MUST CONTACT LUBRICATION SPECIALIST.

File Name: 352481C_FCA_Global _Graco_Trabon_Spec_Book.doc
Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16
Page No.: 7 of 53


http://supplierinfo.fiatpowertrain.com/index.php
https://gsp.extra.chrysler.com/mfg/amedd/powertrain.htm

FCA

GLOBAL POWERTRAIN

3. LIST OF COMPONENTS

3.1. SINGLE LINE SERIES PROGRESSIVE SYSTEM VALVES

Picture Symbol Model Description Notes Doc #
; A iy ; ) Multiple combinations available
I MSP ?\e;r;eesr I;’lrj(t)lge;esswe divider valve with outlet volumes of 0.005-0.080 based on machine design MSP
] C . ) requirements.
] C mreageg mIttalt E’ort'tl{‘ll_/lsgzisggpp See section 4.1.1 for example
readed outiet ports. L/c- ordering codes
o AT ZMSP | Series Progressive Zone Control divider valve with outlet volumes of Multiple combinations available | L10105
ﬁf 0.005-0.080 in® per outlet (Qil only). based on machine design
EQL-L-,;; g Threaded inlet port: 1/4-19 BSPP requirements. For zoned
e Threaded outlet ports: 1/8-28 BSPP system.
Inline BSPP ported Zero-leak valve assembly, 24vdc )
wa [T 557227 | Ty eaded inlet port: G1/4 For use with up to NLGI #2 %S
Eﬂ Eﬂﬂ Threaded outlet port: G1/4 grease. For zoned shut off —
Electrical connection: M12 male systems.
3.2. SINGLE LINE SERIES PROGRESSIVE SYSTEM PUMPS & ACCESSORIES
Picture Symbol Model Description Notes Doc #
ey » 563256 | Performance indicator for monitoring 1500psi L15401

3

spikes in series progressive grease systems.
For use with MSP divider valves.

Required for master valve in every outlet.

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 8 of 53



http://www.graco.com/us/en/products/industrial-lubrication/trabon-msp-divider-valves.html
http://www.graco.com/content/dam/graco/tech_documents/manuals/LXX/l10105/L10105EN-A.pdf
http://www.graco.com/us/en/products/industrial-lubrication/zone-valves.html
http://www.graco.com/us/en/products/industrial-lubrication/zone-valves.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l15401/L15401EN-B.pdf

PCA.,

FIAT CHF

GLOBAL POWERTRAIN

- 563254 | Performance indicator for monitoring 750 psi L15401
spikes in series progressive oil systems. Required for master valve in every outlet
- For use with MSP divider valves.
' For use with MSP divider valves.. 4-pin M12 (Eurofast) connector.
P @ 24K415 Errg;:rgslgvsgvé?;é% %gls?erpsgll\tlzrmg of series 24 volt with LED for visual indication, Prox
For use with MSP divider valves. 4-pin M12 (Eurofast) connector.
1 563272 Mechanical cycle switch for cycle monitoring of Mechanical dry contacts. Only use if proximity Cycle
y. MSP series progressive valves. switch application is impossible.
(f;;:‘& 563251 | "No Weep" magnetic visual cycle indicator with O- | For use with MSP valves for visual cycle L10102
& ring seal indication only.
557713 | 0-3000psi/mpa pressure gauge. Must be usedin | - reosure and Mpa gauge. Must apply visual | Gauges

all systems.

colored stickers in accordance with FCA
Global specification.

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 9 of 53



http://www.graco.com/content/dam/graco/led/literature/flyers/l15401/L15401EN-B.pdf
http://www.graco.com/us/en/products/industrial-lubrication/proximity-switch.html
http://www.graco.com/us/en/products/industrial-lubrication/proximity-switch.html
http://www.graco.com/us/en/products/industrial-lubrication/cycle-switch.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l10102/L10102EN-C.pdf
http://www.graco.com/us/en/products/industrial-lubrication/pressure-gauges-led.html

PCA.,

FIAT CHF

GLOBAL POWERTRAIN

For oil. Works with series progressive or
parallel systems. Includes low level switch. G3 Pump
e Series progressive systems require
B 96G050 G3 Qil Series. 2, 4, and 8 Liter reservoir options, BSPP outlet fitting 571071.
£] m 96G051 expandable up to 16 Liter. 24vdc motor, low level, o Parallel systems require BSPP vent
] 96G052 fill cap with strainer. valve 24M482, plus cable 24N402.
Female threaded outlet port: 1/4-19 BSPP. e Must add FCA Global specified gauge,
filter.
When used by NAFTA, Quick-fill to be ordered
separately.
For grease up to NLGI #2. Works with series
progressive or parallel systems. Includes low G3 Pump
level switch.
L G3 Grease Series. 2, 4, and 8 Liter reservoir *  Series progressive systems require
96G182 . . BSPP outlet fitting 571071.
E options, expandable up to 16 Liter. 24vdc motor, :
: 96G184 low level, pressure-fill o Parallel systems require BSPP vent
96G189 y ) valve 24M482, plus cable 24N402.
Female threaded outlet port: 1/4-19 BSPP. ' o
utietp e Must add FCA Global specified gauge,
filter.
When used by NAFTA, Quick-fill to be ordered
separately.
For oil. Works with series progressive or
parallel systems. Includes low level switch. G1 Pump
e Series progressive systems require
E 94G045 | G1 Oil Series. 2, 4, and 8 Liter reservoir options. . ESrPIIT (l)utle;[ f'r:m? 57i1r07ééPP vent
. O:=0) 94G046 | 24vdc motor, low level, fill cap with strainer. v;vae 247\%2862 Zluiqgakie 24N40§
94G047 | Female threaded outlet port: 1/4-19 BSPP. ' o '
utietp e Must add FCA Global specified gauge,
filter.
When used by NAFTA, Quick-fill to be ordered
separately.

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 10 of 53



http://www.graco.com/us/en/products/industrial-lubrication/g3-electric-lubrication-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/g3-electric-lubrication-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/g1-standard.html

FIAT CHF

PCA.,

GLOBAL POWERTRAIN

For grease up to NLGI #2. Works with series

progressive or parallel systems. Gl Pump
Includes low level switch.
— e Series progressive systems require
d 94G039 | G1 Grease Series. 2, 4, and 8 Liter reservoir BSPP outlet fitting 571071.
' @é) 94G040 | options. 24vdc motor, low level, pressure-fill. o Parallel systems require BSPP vent
94G041 | Female threaded outlet port: 1/4-19 BSPP. valve 24M482, plus cable 24N402.
e Must add FCA Global specified gauge,
filter.
When used by NAFTA, Quick-fill to be ordered
separately.
3.3. SINGLE LINE PARALLEL (MANIFOLD MOUNTED PISTON DISTRIBUTORS)
Picture Symbol Model Description Notes Doc #
% 557912 2 port PD Aluminum manifold, for accepting self- M10x1 mainline ports (qty. 2), M8x1 ports 313759B
e 15X667 | contained piston distributors for PDs (qty. 2)
""b 557913 3 port PD Aluminum manifold, for accepting self- M10x1 mainline ports (qty. 2), M8x1 ports 313759B
2 15X668 contained piston distributors for PDs (qty. 3)
T 557914 5 port PD Aluminum manifold, for accepting self- M10x1 mainline ports (qty. 2), M8x1 ports 313759B
T 15X670 contained piston distributors for PDs (qty. 5)

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 11 of 53



http://www.graco.com/us/en/products/industrial-lubrication/g1-standard.html
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313759/313759EN-B.pdf
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313759/313759EN-B.pdf
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313759/313759EN-B.pdf

FIAT CHF

GLOBAL POWERTRAIN

PCA.,

3.4. SINGLE LINE PARALLEL (CAST BODY PISTON DISTRIBUTORS)

Picture Symbol Model Description Notes Doc #
' 3400 Self-contained piston distributor for manifold mount. Oil only Oil PDs
“ m 3500 | Output range .01 - 1.5 cc volumes Fluid outlet ports: M8x1
I 3900 Fluid inlet ports: M8x1, M10x1, M12x1, and

M14x1.5 options available
73 3410 Self-contained piston distributor for manifold mount. Fluid grease only Grease
“ D 3510 Output range .01 - .3 cc volumes Fluid outlet ports: M8x1 PDs
g 3910 Fluid inlet ports: M8x1, M10x1, M12x1, and
M14x1.5 options available
L1 |
efefe 3400 Cast piston distributor 2,3 or 5 station manifold — output | Oil only QOil PDs
LR range 0.01 - 0.16 cc Fluid outlet ports: M8x1
3 Fluid inlet ports: M10x1
L 11
'I ‘E '3 3410 Cast piston distributor 2,3 or 5 station manifold — output | Fluid grease Grease
range 0.01 - 0.10 cc Fluid outlet ports: M8x1 PDs
> Fluid inlet ports: M10x1
L 11
efe]e 3500 Cast piston distributor 2,3,o0r 5 station manifold— output Oil only Oil PDs
IR range 0.10 - 0.60 cc Fluid outlet ports: M8x1
3 Fluid inlet ports: M12x1
L1 1
'I '2 '3 3510 Cast piston distributor 2,3,0r 5 station manifold— output Fluid grease Grease
- range 0.10 - 0.30 cc Fluid outlet ports: M8x1 PDs

Fluid inlet ports: M12x1

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 12 of 53



http://www.graco.com/us/en/products/industrial-lubrication/3400-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3400-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3400-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html

PCA.,

FIAT CHF

GLOBAL POWERTRAIN

L1 |
'I ‘E '3 3900 Cast piston distributor 2,3 or 5 station manifold — output | Oil Only Qil PDs
range 0.20 — 1.50 cc Fluid outlet ports: M8x1
2 Fluid inlet ports: M12x1
L 11 :
1t 3910 Cast piston distributor 2,3 or 5 station manifold — output Flu!d grease . Grease
el s range 0.10 — 0.30 cc Fluid outlet ports: M8x1 PDs
3 ge v ’ Fluid inlet ports: M12x1 —
L1 24F544 e : ; For higher pressure oil injection. For use
SIBIG GL-43 Series oil injector 1, 2, 3, or 4 station manifold — : il
24F545 . e with G1 and G3 pumps and vent valves, or —
iz 3 2AF546 output range adjustable 0.016 — 0.131 cc larger volume barrel pumps. Injector
2 24F548
fﬁi T gjiggg GL-32 Series grease injector 1, 2, 3, or 4 station ;?;Séghh:;%igi;e géi?iiénﬁfg'?l and Grease
8 iz 3 2AF511 manifold — output range adjustable 0.016 — 0.131 cc G3 pumps and vent valves, or larger volume Injector
- > 24F512 barrel pumps.

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 13 of 53



http://www.graco.com/us/en/products/industrial-lubrication/3400-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/us/en/products/industrial-lubrication/3410-series-piston-distributors.html
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313798/313798EN-H.pdf
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313798/313798EN-H.pdf
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313798/313798EN-H.pdf
http://www.graco.com/content/dam/graco/tech_documents/manuals/313/313798/313798EN-H.pdf

FIAT CHRYS

GLOBAL POWERTRAIN

PCA

3.5. SINGLE LINE PARALLEL PUMP PACKAGES AND ACCESSORIES

piston distributor lube systems.

When used by NAFTA, Quick-fill to be

Picture Symbol Model Description Notes Doc #
15U858 | Gear pump 230/480vac 60Hz, 400vac 50Hz, 3 liter E‘;Jﬁg‘#ggit%'npgtfg r?]'rsnt”?“g” SYStems. | pp pump
#1 @(? translucent reservoir, 0.5L/min, dual level switch PIPE.
e g When used by NAFTA, Quick-fill to be
ordered separately.
15U860 | Gear pump 230/480vac 60Hz, 400vac 50Hz, 6 liter Ezrﬁhoéilr:gzitglnpgtfg r?}lrsntrll:i)uéor systems. PD Pump
<l @ECXP translucent reservoir, 0.5L/min, dual level switch PIpe.
TE?}? When used by NAFTA, Quick-fill to be
ordered separately.
. . For total loss fluid grease piston distributor
557547 | 3 liter reservoir, 0.2L/m gear pump/motor 230/480vac, ' ; ! PD Pump
41 @Eq) 400vac 50Hz, (2) low-level switches with 4-pin micro systems. Refill connection & 10 mm pipe.
E,i ¢ When used by NAFTA, Quick-fill to be
ordered separately.
. . For total loss fluid grease piston distributor
122598 | 6 liter reservoir, 0.2L/m gear pump/motor 230/480vac, : ; . PD Pump
' @ECXP 400vac 50Hz, (2) low-level switches with 4-pin micro systems. Refill connection & 10 mm pipe.
E?}? When used by NAFTA, Quick-fill to be
ordered separately.
[ E’l :lﬁ A-01 2 or 5 Liter oil reservoirs. Pneumatic pump package for Oil only. Refill: screw-on cap. L12601

ordered separately.

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 14 of 53



http://www.graco.com/us/en/products/industrial-lubrication/injecto-flo-electric-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/injecto-flo-electric-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/injecto-flo-electric-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/injecto-flo-electric-pumps.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l12601/L12601EN-B.pdf

=

FIAT CHF

CA.,

GLOBAL POWERTRAIN

For oil. Works with series progressive or

96G050 | G3 Qil Series. 2, 4, and 8 Liter reservoir options, llel svst Includes low level switch G3 Pump
96G051 | expandable up to 16 Liter. 24vdc motor, low level, fill para.e sgjr; rgz.rogfegsiise gxtz\r/:s ?:::;lj:iré
— 96G052 | cap with strainer. >
E Female threaded outlet port: 1/4-19 BSPP. BSPP outlet fitting 57_1071'
@(? e Parallel systems require BSPP vent
valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be
ordered separately.
96G182 | G3 Grease Series. 2, 4, and 8 Liter reservoir options, For_ grease up to NLGI #2.”V|Vorks with G3 Pump
96G184 | expandable up to 16 Liter. 24vdc motor, low level, SETes progressive or parafle systems.
96G189 | pressure-fill neldes o e O et .
—ara 1A o eries progressive systems require
E Female threaded outlet port: 1/4-19 BSPP. BSPP outlet fitting 571071
‘ @é) e Parallel systems require BSPP vent
valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be
ordered separately.
94G045 | G1 Oil Series. 2, 4, and 8 Liter reservoir options. 24vdc For oil. Works with series progressive or G1 Pump
94G046 | motor, low level, fill cap with strainer. parallel syst_ems. Includgs low level SWItC.h'
94G047 | Female threaded outlet port; 1/4-19 BSPP. *  Series progressive systems require

@)

BSPP outlet fitting 571071.
e Parallel systems require BSPP vent
valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be
ordered separately..

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 15 of 53



http://www.graco.com/us/en/products/industrial-lubrication/g3-electric-lubrication-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/g3-electric-lubrication-pumps.html
http://www.graco.com/us/en/products/industrial-lubrication/g1-standard.html

FIAT CHF

GLOBAL POWERTRAIN

PCA.,

E.

@

94G039
94G040
94G041

G1 Grease Series. 2, 4, and 8 Liter reservoir options.
24vdc motor, low level, pressure-fill.
Female threaded outlet port: 1/4-19 BSPP.

For grease up to NLGI #2. Works with
series progressive or parallel systems.
Includes low level switch.
e Series progressive systems require
BSPP outlet fitting 571071.
o Parallel systems require BSPP vent
valve 24M482, plus cable 24N402.
e Must add FCA Global specified
gauge, filter.
When used by NAFTA, Quick-fill to be
ordered separately.

G1 Pump

;‘?

@

24M482

G1 Standard or G3 Standard pump vent valve Kkit.
Normally Open, 24VDC, adjustable relief 500-3500psi
(Requires 24N402 cable). Female threaded outlet port:
1/4-19 BSPP.

For grease or oil on single line parallel
circuits ONLY.

Vent
Valves

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 16 of 53



http://www.graco.com/us/en/products/industrial-lubrication/g1-standard.html
http://www.graco.com/us/en/products/industrial-lubrication/vent-valves.html
http://www.graco.com/us/en/products/industrial-lubrication/vent-valves.html

FCA,

GLOBAL POWERTRAIN

3.6. AIR-OIL LUBRICATION SYSTEMS

Picture Symbol Model Description Notes Doc #
SPG- 24vdc pump/motor package with integration of Piston For high speed spindle applications. Hi Speed
E24 Distributors and air mixing valve technology. Requires consultation from specialist. Spindle
Custom Integration of Series Progressive valves and mixing For spindle lubrication. Requires L20110
valve technology. Application specific. consultation from specialist.
AO Air Oil Series Progressive mixing valve technology. For spindle lubrication. Application specific. | Air/Qil
series Includes air pressure switch. Requires consultation from specialist.
3.7. FILTRATION FOR LUBRICATION SYSTEMS
Picture Symbol Model Description Notes Doc #
g Fill/Return line filter with 25 micron filter element. . : .
. 563515 Fluid inlet port: 1/4-19 BSPP female Oil series progressive only. L15200
_ ’ ' Fluid outlet port: 1/4-19 BSPP female
‘ @ 564004 Slgr?qgr:tessure in-line oil filter assembly with 10 micron Oil only. Includes visual/electrical element L15200
= M B | E! Fluid inlet port: 3/4-14 BSPP condition indicator. HF2 style element.
.= Fluid outlet port: 3/4-14 BSPP
< Pressure line grease strainer - 100 mesh : :
. 564406 Fluid inlet port: 1/4-19 BSPP female Grease series progressive only. L15200
‘ ' Fluid outlet port: 1/4-19 BSPP female

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 17 of 53


http://www.graco.com/us/en/products/industrial-lubrication/high-speed-spindl-gard-system.html
http://www.graco.com/us/en/products/industrial-lubrication/high-speed-spindl-gard-system.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l20110/L20110EN-B.pdf
http://www.graco.com/us/en/products/industrial-lubrication/air-oil-ao-series-valves.html
http://www.graco.com/content/dam/graco/led/literature/flyers/l15200/L15200EN-C.pdf
http://www.graco.com/content/dam/graco/led/literature/flyers/l15200/L15200EN-C.pdf
http://www.graco.com/content/dam/graco/led/literature/flyers/l15200/L15200EN-C.pdf

PCA.,

FIAT CHRYS

GLOBAL POWERTRAIN

3.8. QUICK-FILL COUPLING OPTIONS/SUGGESTIONS

g 5; E— = f$
i B W |
| 7 8
Parker Series FEM Parker Series 60 Parker Series FF
Port Dust Dust Dust Dust Dust
Size Nipple Cap Coupler Dust Plug Nipple Cap Coupler Plug Nipple Cap Coupler Plug
1/8"
BSPP H1-63-BSPP H1-66M | H1-62-BSPP H1-65M
1/4"
BSPP | FEM-252-4FB FR-25 | FEM-251-4FB FR-25 H2-63-BSPP H2-66M | H2-62-BSPP H2-65M
3/8"
BSPP | FEM-372-6FB NR-37 | FEM-371-6FB NR-50 H3-63-BSPP H3-66M | H3-62-BSPP H3-65M FF-372-6FB | NR-37 | FF-371-6FB | NR-50
1/2"
BSPP | FEM-372-8FB NR-37 | FEM-371-8FB NR-50 H4-63-BSPP H4-66M | H4-62-BSPP H4-65M
3/4"
BSPP | FEM-622-12FB FEM-621-12FB H6-63-BSPP H6-66M | H6-62-BSPP H6-65M

For FCA NAFTA Plants: For approved lubricants reference to the FCA NAFTA website to obtain latest revision of the FCA NAFTA - NPM — Chemicals.

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 18 of 53




FCA

GLOBAL POWERTRAIN

4. TECHNICAL INFORMATION AND DRAWINGS
4.1. MSP
4.1.1. EXAMPLE ORDERING CODES

o 3 section: MSP-3-XXX-XXX-XXX
e 4 section: MSP-4-XXX-XXX-XXX-XXX
o 5 section: MSP-5-XXX-XXX-XXX-XXX-XXX
e 6 section: MSP-6-XXX-XXX-XXX-XXX-XXX-XXX
o 7 section: MSP-7-XXX-XXX-XXX-XXX-XXX-XXX-XXX
e 8 section: MSP-8-XXX-XXX-XXX-XXX-XXX-XXX-XXX-XXX
o 9 section: MSP-9-XXX-XXX-XXX-XXX-XXX-XXX-XXX-XXX-XXX
o “-XXX-“is replaced by the valve sizes and types required (10T, 20S, etc.)

e CAD files in formats dxf, igs, and stp available on request

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 19 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.2. MSP DIMENSIONAL DRAWINGS
4.2.1. THREE SECTION MSP

— 218l ——

o= LIZE (-

A2 —= ’-

1209

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

F— 1300 —=

Ja1

| §are B
| 60 @6 | |9
1 0@ @6 | f )
00 O | 1~
1_ &
ImI - 'm{ [
\\—giem THRU
E2D 1.750 4y PLACES
2000

Page No.: 20 of 53



FCA

FIAT C JTOMC

GLOBAL POWERTRAIN

4.2.2. FOUR SECTION MSP

g 2 B] ———e—

A 7
a &7 wﬁﬁ“
O T |
Ol I = 5
©) 9] ' "OTe |
OJS); (0600 |
(L] -LJ;F (L] ami

e ] ————=

4¥ 28

OFOLOLO

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

| leee®e |

Page No.: 21 of 53



A

FIAT CHRY CR A OMOBILE

GLOBAL POWERTRAIN

o 1300 =
4.2.3. FIVE SECTION MSP {
781 0
T—1o— o
2181 u — —J
- 1IPE = — 4p7
AP0 —em
+ CAUTION: W PRESEURE
1209 ﬂ} Vv PR ﬂ}m
i OICICION,;
—

6402 5429

COCICOR!
o)
©
©
2

1 @ @ o) 28l THRU
O O g} PLACES

(0)
©
©
©
| (@@ @E

523 =—m=— .73

il

EIRS
it
iR

271

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 22 of 53



FC

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.2.4. SIX SECTION MSP |‘- 1500 —“‘
{

|

e 2] ———o [ :I

_ —
-  LIg8 |=
— AB7
A0 —= =

1 | CAUTION: 7D, PRESSURE
W00

1209 O Zmosm (O
ORACD » TRABON P 3000

See
VP

7324 6331

clelElelele

5 |

@EE

(0

gl
@G EE
I@i@!@l@I@I@

ICCOICIOC

€J
(]—L)\&““‘— 4% H2El

B3 1730

H
H
g
.
i
H
H

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 23 of 53



FC

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

= 1500 —=]
4.2.5. SEVEN SECTION MSP .?1'31 [I &
- 218 — : © '69 ©
- 1128 ]
40— = 487 —

1209 B mmme B

= o TR e es B
e |2/ 1 @0 @0 |

5
o}
©
ol
QQE
(B (D (B (B (D

7273 GRACD » TRABOH P X0 8746

(0)
©,
©
©)

[—3.418

:
E
§
:
)

o) -
)

©

O

CEEEEEE
o) §
of
©
of

@E
o
(©)
o]
g @ G

®

ICICICIORS

| | e
T L D 4_‘ ] Pl THRY [T
1,790

H
H
H

BED —=

3.000

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 24 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.2.6. EIGHT SECTION MSP i [~ 1500 =
TB1 | Q
7 o—L o

== LIFE =

1209 ; fE—m O
= ICIOTOR) Iﬂ
! ROIO0 ﬁ

—

=]
@
w0
n

2168

© @ (@ @ ©

(@etefeeferefe ——

lolclolblobioo

5 ¢
o)
(0
Ez
P9 LELVEYE

— 1 1 3 1 —
§
B

[TITT T e @28l THRU [T
L G_‘ {43 PLACES
65— 1.750
3000

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 25 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

i f-' 1500 -1
o
4.2.7. NINE SECTION MSP 781 [
ﬁﬂ—ﬁ} o
e— P18l — ]
e —
= LIEE =
AR —om ""E?—l
l HT
1209 : %&m ! ‘
Tie 0O @@
_¥7 00

17

G 6E6EG6E
(2@ BI(@(B(3!(®(3I(®:

Of0

] e B=e|] =] =] =] =

CRREEREEOEE
I
§
§
¥

J
)
)
)
OTEE) j 1%
)
)
)

(@[(@teteltertelees

] ‘

il
&

E
il

H
H

7y ] - @28l THRU
(4) PLACES
BED = L 1.730 'J

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 26 of 53



FIAT CHRY

A

GLOBAL POWERTRAIN

4.3. ZMSP

4.3.1. ZERO LEAK MODULAR FILTER SECTION

1.350

REF  ——

1.038 531
‘ REF REF]
TRAEDH Patent £
| |25 MiC R
A
245 REF
T i i
3.000 ,
REF

1120
REF

0.904
REF

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0
Original Date: 1-O

ct-2010

Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 27 of 53



FCA

FIAT CHRYSLER AL

TOMOBILES

GLOBAL POWERTRAIN

4.3.2. ZERO LEAK MODULAR VALVE SECTION

WIRING DIAGRAM

Wi [T

ANSI SYMBOL

—_"DCIN

+

" 1.938 -
REF
f R = )
u w | @AM\ @
REF Y iy
l za:;zl.mn. \\\é~:ﬁj/ TRABCN
SOLENOID COIL 7/8-16 UNC Thread for Brad
Harrison 3 Pin Mini Connector
\ \ - M12x1 Thread for 4 Pin I::lticru
5 Connector
NI
| I_ Tﬂﬁj
| L
| oot
! - [T ]

v | B

REF

(il

3.00

_—

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 28 of 53



FCA

EIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.4. GREASE ZONE VALVE 557227

r"'l E f‘-’ A I_ E ': :?J M E C- T_\

Gli4 BSFP PORT— ,1:__ . I
TYE BOTH ENDS N\
= -
2.05 RE-
L |
\£l_. 'I:l|

L7

- o .03 REF —== =

=LOW DIRECT ION

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 29 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.5. PERFORMANCE INDICATORS 563256 & 563254

= (24092 =

(200

, )
GRACO  XXXXXX |
XOOPS| XXXX |

(.220) =—=

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 30 of 53



PCA,

FIAT CHRYSLER AUTOMORB

GLOBAL POWERTRAIN

4.6. PROXIMITY SWITCH 24K415

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 31 of 53



FC

FIAT CHRYSLER AUTOMORB

GLOBAL POWERTRAIN

4.7. MECHANICAL CYCLE SWITCH 563272

i

—
O T (166)
” : % I | I

=
—_

= (10D =
|
(3.03)
T (2.26)
(144)
¥

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 32 of 53



FCA,

GLOBAL POWERTRAIN

4.8. G3 AND G1 SERIES GREASE PUMPS
4.8.1. G3/G1 PUMP WITH 2 LITER RESERVOIR

= (8.236) —=

r— (80000 —=

re— (9131 ——=

=

(7.616)
3
T @
(5.620) &0
00

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 33 of 53



FCA

GLOBAL POWERTRAIN

4.8.2. G3/G1 PUMP WITH 4 LITER RESERVOIR

e (9,131) ——=

- ] I B r

- I]
‘ (8.958)
4 |
(14.478)
E : |k j
il [} il {?@r
(5.620) % 0
l 00
¥ *

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 34 of 53



PCA.,

FIAT CHF

GLOBAL POWERTRAIN

4.8.3. G3/G1 PUMP WITH 8 LITER RESERVOIR

(B236) —

(8.000% —

(18.8568)

(2130

(13.248)

(2.620

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 35 of 53



PCA.,

FIAT CHF

GLOBAL POWERTRAIN

4.8.4. G3/G1 PUMP WITH 12 LITER RESERVOIR

(8.236) {
(9131
(8.0007
- D
| | |
AL 1| ]
! (17638 !
4 ’
II | (23.258) II II
i {
-! '
| | [
L
tj @
¢ T ane
ce e (5.620) & o
Oooo 00

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 36 of 53



PCA.,

FIAT CHF

GLOBAL POWERTRAIN

4.8.5. G3/G1 PUMP WITH 16 LITER RESERVOIR

(B.236) .

(8.000>

-

(27.648)

(9131

(22.028)

|

(2.620)

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 37 of 53



FC

FIAT CHRYSLER AUTOMOB I

GLOBAL POWERTRAIN

4.9. G3 AND G1 SERIES OIL PUMPS
SAME DIMENSIONS AS GREASE RESERVOIRS (ABOVE), WITH ADDITION OF OIL FILL CAP:

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 38 of 53



GLOBAL POWERTRAIN

4.10. SINGLE LINE PARALLEL MANIFOLDS FOR PISTON DISTRIBUTORS

k-]

r— 2X 13 MAX —=
2X 5.5 THR
L 129,75 % &

re= 2K 12420.5

KO. OF HOLES (A} 7.5
/ TiF

8E0.5 TP g yay TP

B, W

D)

o TSNS NS ST

e

|
15
T THREAD E TYP
L
I
1
1
|
1
1

=
S

25,

e e \
?YF 2% MIO X | SECTION B8-B

o ] c

PART NO. |DESCRIPTION NG. OF HOLES (A} B C D THREAD E @F

| 5X667 MANIFOLD, PD, MIC / M8 2 STATION 2 52 40 |6 M8 X | 4 METRIC
| 5%X668 MANIFOLD, PD, MIC / M8 3 STATION 3 68 36 |6 M8 X | 4

I 5X670 MANIFOLD, PD, MIC / M8 5 STATION 5 190 88 |6 M8 X | 4

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 39 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.11. SINGLE LINE PARALLEL PISTON DISTRIBUTORS
ﬂ/man
3400 Hr"_ HEX 11 3500
Series L3 inpEX Series
T
wn 212
10
I || +— HEX. 11
o |
1_ _ I
Max1
'Sreet soov
_BRASS DOSER MIFFLE e 5o
-BRASS DOSER MIPPLE
MBx1
INDEX
3410 3510
Series HEX 12 Series
‘erass Booy warers
-STEEL DOSER MIPPLE ﬁ ﬁ&ume

MBx1l

s

B7.5

METRIC

ﬁ A2
g INDICE

—— HEX.14

HEX.15

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16

3900
Series

MATERIAL:

4 e

3910
Series

685

Max1

T

_-D:I:Bn_- HEX 14
INDEX

|
|
|
[

M14x1'5

Page No.: 40 of 53



FCA

GLOBAL POWERTRAIN

412, SINGLE LINE PARALLEL CAST BODY PISTON DISTRIBUTORS
3400 Series for Oil
o M8x1 17 17 17 17 17 17 17
| Flow
o g brbd o o g g g o e
i 50|14 sI{{al] 3 STl T3 Erl 2T '
| N DT 1Y T T T |
oo mman N 285)5) || 2% ey gy e 125572 12 SD/21] )2 o m gy g S ] 2952 2K N &
5 T g A OB Hlergs
[m] [m]
3 9 24 24 17 24 51
48 65 99
METRIC
2 outlets 3 outlets 5 outlets
3500 Series for Qil
_/\l M8x1 7 17 17 17 17 | 17 17
Index
TTL  EDTOTL  COTOTNTTE &
Z‘T Wi | ‘ TF‘TTFT‘i "‘T‘ ‘?’T‘TF"T‘ ‘T‘TT‘T‘ Outlet
number
2 -5 5[/ || 4 5(111[41l113 5 |74 [T 3 M 2| ! '
e g8 LI UL DU
s=Z I I 1 1 = | | = 1 I
S U] U IRl

=
| —
1T 1
@17
1

|

1l

T

|
DINZa7

— 7N 7 /INY
D &
11 31.5 NZ 48.5

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 41 of 53



FCA

GLOBAL POWERTRAIN

3900 Series for Qil
M1 | 21 | 21 21
/T/ Index
AERANAERA (TITLT]TI (T]T1 flow
—T | 5] 5] | 5[ 5[ o —
/ SR N PR R R
1 L] oue
o nurlnber
4% | 3 2 3 2 1
w
€ ZA I ] T
V) ® | I i I I
E e 11z]) lES S = ——
@ i oy s e B
&7 S8 |- 12 S—1= %
12 25 25 21
METRIC 16 50 71
2 outlets 3 outlets
3410 Series for Fluid Grease
M8x1 17 17 17 17 17 17 17 Index
T‘?/ flow
5 5 % 5 ’i 5 iﬁ‘ 5 5 5 5
o winu]u El‘%’éﬁ nn/n|winnly o w(nminjulnn/ul i
I I 1 I
g 3} S 5| |4 s [ [la] |1/ 5|4 (3 T 2T | '
TJ.% 1 |
T | S e e e e e A B 55
S & T I =4 i r_ ' N = _r Vo T | _[LL 1S &
s 8 ! ) =
K = g S %
3 9 24 24 17 24 51
48 65 99
2 outlets 3 outlets 5 outlets

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 42 of 53



FCA

GLOBAL POWERTRAIN

3510 Series for Fluid Grease

—ﬂ Index

g
-

=
o
=
g_ﬂ
=
=
§_
=

o

.
=
— )1
—
=
o)
)

@17

[ |
’_‘ﬁ

=
11
@17
1

|

il

H

|
Jﬁf
W12%1
DIN2367

-

Outlet
number

78.5

M12x1
DIN2367

b
| i
S { Erey— R
I
=
——— )

17
N

485
46 63 97
2 outlets 3 outlets 5 outlets
3910 Series for Fluid Grease
MBx1 | 21 | | 21 | 21 |
(T AERANASRA (T (TIT) (TT) e
| 5 5 5 5 5 54—
| | \ I I S—
7 1MNMI DTN o
o ~ I | nun'|ber
g 7 3 2 3 2 1
o i AT
S | | | | |
= LI ZNZ
of A= cuy—pel ) o= e [P S _“=TE
> =g s B S g 1| o
K24 a8 ke S
12 25 25 21
METRIC 16 50 71
2 outlets 3 outlets

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 43 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.13. GL-32 AND GL-43 INJECTORS

= (89 TP = e 1y |

o
|
._?\ ."}_-_H"‘- o e T
o {__“}ﬁl (2.3 TYR i -
" {
| o ul
e —ﬂ‘ (n%r__
gy I i i
I ]
FA i -
e= (1230 = (25000

c4FSI0 OR e4F545
c4F309 OR 24F344

24F51 OR 24F544 24FZ1E OR 24F5448

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 44 of 53



GLOBAL POWERTRAIN

4.14. INJECTO-FLO PUMPS
4.14.1. THREE LITER RESERVOIR

METRIC

-1

136

X i

V
g 17 %
& — 30
20y
b
102
L ) v L]
==t
==t
==k

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0
Original Date: 1-Oct-2010
Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 45 of 53



GLOBAL POWERTRAIN

4.14.2. SIX LITER RESERVOIR

1.38 } 4.34 ‘ 4.34 .38 .10
B‘ (351 | titor |3 rilo [35] ([31

-
?@ ;
ﬂ 107
(1821
-
3.63
1971
Midx|.5 @8
FOR 8mm TURING
79
P [ | 1201
M —-— .59 4 |: @ 2.3
[1s] $ 1.58 [§0]
i i F — [401
iy : I i
‘ 13.38
= . 13401
.39
1 1881
N \ WAL 2N A he L 2 »
5.04
10,84 [128]
12701
6.90
11,43
12887 [1731

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 46 of 53



FCA

GLOBAL POWERTRAIN

4.14.3. AO-1
F emm TUBE
/8 BSP | (M12X 1)
Air

LUBE
OUTLET 66 [_

(.26) J
— ) * |
T b
u ] C ]
B A
MY A ' b 2 '
et E - (© -
lg—— [) ————
RESERVOIR
CAPACITY A B C D E F
2 liters 237.0 | 186.0 118.0 123.0 148.0 125.0
(4pt) (9.33) | (7.32) | (4.65) | (4.84) | (5.83) | (4.92)
5 liters 232.0 | 181.0 _ 152.0 236.0 167.0
(10pt) (9.13) | (7.13) (5.98) | (9.29) | (6.57)

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 47 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.15. G3/G1 VENT VALVE 24M482

G _ L

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 48 of 53



& °
//é/ S\

GLOBAL POWERTRAIN

4.16. SPINDL-GARD SPG-E24

—

megro-Fo B ® 7 & &\
S T T Y S—
- Fq' o 1
3.562 1
8.25 e
L1 .00
/—4)( @ .39 THRU
T Tl
2.75 i
’&‘ ole|o|o|e $——
.50 @ 2.00
ol|e|e|o|o '
.00 i
T = s
mR22888228 8
ST e o —
I.407 11.50
14,75 .38

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc
Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 49 of 53



=

FIAT CHRY

GLOBAL POWERTRAIN

4.17. AO SERIES AIR/OIL MANIFOLDS FOR MSP VALVES
| =
(ml P
(O) | :]
L .\__s' N__f
— N ( 1.0 )]
L
A Bhle
= ]
Dimension A Dimension B Dimension C Dimension D
Model inch (mm) inch {(mm) inch (mm) inch (mm)
24B237 2.89(73.4) 3.00(76.2) 718 (18.2) 3.75(95.3)
24B239 3.815 (96.9) 3.00 (76.2) 718 (18.2) 3.75(95.3)
24B240 4.74 (120.39) 3.00(76.2) 718 (18.2) 3.75(95.3)
24B241 5.665 (143.89) 3.00 (76.2) 718 (18.2) 3.75(95.3)

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 50 of 53



FIAT CHF

PCA.,

GLOBAL POWERTRAIN

4.18. HIGH PRESSURE FILTER 563515
1,000
s 40 LUBE 1,562
4 | ouT poRT (o57) = %
s B —
4. /32 Mounting Haol
o \/ _G/ /9 ) (7.14)
\ H y + f
Py =
LUBE 5=
ouT e ALT| ouf RE
(o) ‘c‘; E I — ‘g w
CENTHALLITED LUBFICATION SYSTEM — ALT. IN g E a -&4
e —— gy | 1oLl = 7"
- — 5 B )
Sl — - Z gl
HYDRAULIC PRESSURE B H_F
T500 P51 MAX. o
WORKING PRESSURE (o) i
C J
e 587, e 587}
(175) (17.5) —
NMNN,
2.000
(50.80) — 1 =
1.000 B
7\‘ " [25.40) Q N
1375 \ N\
(34.9) . \ N
35 N
als N
Ble T
+) 5 § \ \

LUBE
IN PORT

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010
Revision History: 6-Jul-16
©2016 Graco Inc. 352481 Rev. C 04/16

Page No.: 51 of 53



FC

FIAT CHRYSLER AUTOMORB

GLOBAL POWERTRAIN

4.19. HIGH PRESSURE FILTER 564004

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 52 of 53



FCA

FIAT CHRYSLER AUTOMOBILES

GLOBAL POWERTRAIN

4.20. GREASE STRAINER 564406
1000 == i
875 LUBE INLET - (25.4) 2750_(%41)
(22.2) ) BLEED | =~ 8 | 1.375(34.9)

'J'

-H"-\.

o

HEX
V4

2.000
(50.8)
- 2000 | Er/ o

(50.8) LUBE OUTL <

LUBE IN
-, '\\
N PA
| I
z/a"::'\‘\\
(o
N
e
L,
LUBE
ouT
B —
e
CALMON
HYDRALILIC PRESSURE
THOD PSI MAX
WORKING FREGURE [

File Name: 352481C_FCA_Global_Graco_Trabon_Spec_Book.doc

Version 9.0

Original Date: 1-Oct-2010

Revision History: 6-Jul-16

©2016 Graco Inc. 352481 Rev. C 04/16 Page No.: 53 of 53



